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OO0000bO0DoooooobOonooboOnD SkyrmedDODOOOOOO Gogny
0000000000000 0O00ObO0o0ObO0o0oDOOoobOOooOoboOoOn SkyrmeO
ooooooon

5.5 Skyrme/[]

Skyrme 00 1956 0 0 T.H.R.Skyrme 000000000 0Skyrme 1000000
000000000
V(rioiqi; 1202q2) = to(1 + 2o F)6
]_ —, —,
(1 4+ leg)§(k25 + 0k?)
+t2(1 + $2PU)E . 6E
1
+6t3p"(1 + x3P,)d
+iW (1 + 73) - k x 0k (5.5)
I P
0 =0(ri = 72),k = 5-(V1 = V2) (5.6)
0000c00000¢q0000000000000000000Skyrmed 0000
00000005000 R00000000000000000K0 k-6k000
0000000000000000000000000(G.5) 0000000 p000
00000000000000000000000000000000000000

0000000000 (t,t,ts, ts, 20,21, T2, 23,0, W) 0 0000000000000
SLy4, 000 SIIOOOO0O0O0O0OOO0O0OO
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6l Skyrme HFBU OO OO
HFODDU O [

6.1 HFODD

00000000 Skyrme HFBO OO OO O HFODD O Dobaczewski 0 O Dudek O
0000 19970000000 B40000000000000OOO0O0O0O [11016]0
O000000000000D0D0O00O0O0000212000000000 (150000
OO00000000ooooooooo0ooooo0ooooooooooooon
000000000000 000000000O0000DO0000O0o0oDOoooDOon

000000000 HFBOOODO300O00D0000O0O0OO0ODOO0O0ODOOOOOOOO
00000000000 0000000000O00DO0DO0OO0DOO0ODOODOODOODn
00000000 s000000000D000O0000DO0ODOOODODOODODOOO0
000000000000 000D0DO0000D000O0D0D0DO00O0O00

6.2 UUOO0OOOOOOOONO

Ooooboooooodonooodoin ngn,n, 00000000000000
gbobboogoobbobuoooobbboooooobooo

[Yu) =222 Z Cl s [Ty Ty 1) 52) O (6.1)
Ne Ny Nz g —
DDC&MSD}EDDDDDDDDDDDDDDDDDDDDDDDDDDDD
ooo
¢, .. 000000000000000000000000000
Hip,, = epthn0 (6.2)
oo00ooooo
Hll H12 DI[D
. Hy  Hyy [
H=| o (6.3)
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Hyj =< | Hlp; > O (6.4)

D000AO000O0D0OO0O0ODOO0O0DO

e 0 0 OD
0 €9 0 O
A= s (6.5)
a
g
000006000 CH 00000000000HFBOOOOOOOO0OO0

NgMyNzSz

0000000000 00000ooooooO0d(e.)yoboooooooo 20000
goo

6.3 UOUOUoOooooubooooobooobognon

googobbobobboooooooooobobboobbboouooooon
obogboobobgoobbooboobbooboobbooboobboobbon
gobbobbouooogobobboogooooboobouooooooboon
obobboboobooboobooboobo

OOoooooooooooobooboobobobobobuobobob poyOboO
00000 (422)0(423)0 0000000000000 OO0OCOOOOOOOOOO
gobbobbouooogobobbbouoooobboobouooooooboon
oboobod
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070 OoOO00O000

0000000000000000 *¥Dy0D000000000000000 Z=66
0000 Z=500 Z=82000000000000ON=980 A=16400 DyOoonono
0000D00000ooooOo*¥pyooOooOo800O0OOOooOoOoOoO 710000
oboboboobooboobd

163 164 165

66

162 163 164

Th Th Th

5 97 85 98 65 99

googon » N

071:%Dy00000800000000O00O0DOOODOOONONOOODOOOOO
goboobbouooogobbobuooooooobooboooooooboon
gobbbbbouooogbobbbbuoooooobbobbouooooooboboo
gboboboooobbbuooobobboooon
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7.1 Skyrme0 0 SLy400 00000

7.1.1 0OU

0 7.1: 8Th N=98,Z7=6500000

00 00000 (MeV) 0000000 MeV)O 8~ (°)

14,1,1,3+) -1318.7791 0 0.3435 10.12
14,1,1,14) -1318.7781 0.0009 0.3435 10.12
15,2,3,24) -1318.5377 0.2414 0.3281 9.75

16T N=98,7=650 0000000000 71000000000 [4,1,1,3+)00
0000000000000000000000000 |41,1,34) 00000000
00000000000000000000000000 34+00000000000
0ooooooo
00000073000000000000000000000000000000
00000000 030000000060000000000000000000
0000000000000 MO730000660000000000000000
00 6000000000000000000000000000000mMO0Nn
0000000000000 0000000000000000000000000
000000@M0O000000000000000000000000000000
00000000000000000000000000000000000000
00 m

00000 7100000000000000000000000000 [4,1,1, 34)
0000000000000000000 41,1, 00000000000000
0000009kVOOOOODOOOOOOOODOOOOOOOOOOOOOOO
00000000000000000000000000000000000000
00000000000000000000000000000000000000

gbooboooodgn
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0 7.2: Dy N=99,.Z=66 000 0 O
00 00000 (MeV) OO0O0000O0 (MeV)O 8 7 (°)

|5,1,2,g—> -1333.5446 0 0.3358  3.98

6,3,3,%+ -1333.1870 0.3576 0.3256  0.00
2

|5,1,4,%—> -1333.0292 0.5154 0.3298 10.50

6,6,0,2+ -1332.6773 0.8673 0.3393 8.94
2

16Dy N=99,Z=660 0000000000 720000000000 |5,1,2,2-)0
00000000000000000000000000 (51,23-)0000000
oooooooooon

000000 72000000000000000000000000000000
000000000000009I0D000000000000000000 0.30
000000000 1070000000000000000000000008000
000000000000 0000000000000000000000 0.3/w =
2.2 MeV ( hw =41A"3 MeV =7.5MeV) 0000000000000 00

0000000000000000 1+000000000000000 72000
0000000000 |63,3,2+)00000000000000000000000
000000000000000N=90000000000000000000
000000000000000000000000000000

000000000000000000000000022MeVvOOOO0O00000
0000000000000000035MeVOOOOODOOOO0O000O000000
0000000000000 000000000000000.35MeVOOOOOOO
00000000000000000000000000000000000000
ooooooo

00000000000000630000000000000000000000
000000000000000
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0 7.3: 19Dy N=97,7=66 00000

00 00000 (MeV) OO0O0000O0 (MeV)O 8 7 (°)

6,3,3,2+ ~1320.6047 0 0.3320 10.95
2

15,1,2,5-) ~1320.2222 0.3825 0.3247  0.10
15,2,3,3 ) -1319.8711 0.7336 0.3470  8.70
15,1,4,1-) ~1319.6765 0.9282 0.3200 0.62

18Dy N=97,Z=660 0000000000 730000000000 [6,3,3,2+) 0
00000000000000000000000000 163,3,2+4)0000000
oooooooooon

0000000000000000 3-0000000000000000 7300
00000000000 }51,2,5-)00000000000000000000000
00000 [5235-)0000000000000000000000000000
000000000000 000000000000000 20000000000
0 038MeVOOOOOODOOOOODOOOOOOOOOOOOOD Dyooooo
00000000000 00000000000000

07200000000000000000000000009700000000
52,1,2-)0000000000000000000000000000000000
0000 [523,-) 0000000000000 620keV00000000000000
00000000000000 }51,25-) 0000000000000 2.7MeVO 00
0000000000000 0000000000000000000000000
00000000000 00000000000000000000000

0000000000000000000000000000000000000
0000000000000 0000000000000000000000000

gbbbuoooobbbooobbbuoooobbbuooobbbooaobobo
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0 7.4: 'Ho N=98,Z=6700000
00 00000 (MeV) 0000000 MeV)O 8 v (°)

14,0,2,24) -1334.0602 0 0.3251  1.20
5,4,1,1 ) -1333.3194 0.7408 0.3568  9.14
14,1,1,2+) -1332.9849 1.0753 0.3290 0.62
5,2,3,2—) -1332.8444 1.2158 0.3142 0.85

16Ho N=98,Z=6700000000000 74000000000 b|4,0,2,3+) 00
0000000000000000000000000 [402,3+)00000000
ooooo

000000 73000000000000000000000000000000
0000000000000 6700000000000000000 0300000
0000 77000000000000000000000000 1000000000
00000000000000000000000000000000000000
000000000000000000000000000000000 670000
00000000000000000

0000000000000000 I-0000000000000000 7200
00000000000 523,l-)00000000000000000000000
0000000000000000000000000000000000000 1.2
MeVOOOOOOOOOOOOOODOOODOOODOOOOOOOOO0OO0OO0O0000O
00000000000000000000000000
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7.1.2 00O

0 7.5: 1%9Th N=99,7=6500 000

00 D0000 (MeV) 0O00O0DDO (MeV)O B v
n|5,1,2, 2—) -1324.0325 0 0.3323  6.87
pl5,2,3, 1)
n|5,2,1,1-) -1324.0205 0.0120 0.3429 5.23
pl4,1,1,2+)
n|6,3,3, +) -1323.9724 0.0601 0.3309 0.61
pl4,11, 14)
n|5,1,4,1-) -1323.8278 0.2047 0.3431 12.86
pl4,11, 34)

164TH N=09,7=650 0000000000 750000 00000000 00
000000000000000000000000p00000000000000
00000000mOo00 [51,2,5-)000 [523,I-)0000000000000
00000000000000 [51,2,5-)0 [523,I1-) 0000000000000

0000000000000000 (+)0000000000000000000
00000000000000000000000000 Q00000000000
I4+5-60000000000000I-3=10000000000000000
000000000000000000000000000000000000 60
000000000000 0000000000000000

07200000000000000007300000000000000000
0003000000000 n|6,3,3,2+) 0 p|4,1,1,34+) 000000000000
0QU0000000000000000000I+3=5000000000000
0000000000000 0000000000000000000000000
0000000000000000000000000000

00000000000000000000000000000000 n/5,1,2,3-)
00000000000 22MeVO00p|52,3,I-)00000000000 1.0MeV
000000000000 00000000000000000000000000

gbbbuoooobbbuoodobbboooob
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0 7.6: '92Thb N=97,7=6500000

00 00000 (MeV) DODODOOOO (MeV)O B ()
n|6,3,3, 2+) -1312.3584 0 0.3371 11.03
pl4,1,1, 24)
n|6,3,3, 2+) -1312.0194 0.3390 0.3269 11.05
p[5,3,2,2—)
n|5,1,2, 2—) -1311.8981 0.4603 0.3312  0.02
pl4,1,1, 1+)
n|5,1,2,2-) -1311.8427 0.5157 0.3186 3.97
pl5,2,3,2—)

102Th N=97,Z=65 00000000000 760000000 [6,3,3,24+) 000
41,1,34)000000000000000000000000000 n6,3,3,1+) 0
p|4,1,1,34) 0000000000000

0000000000000000 (1-)00000000%Th N=99,Z=650 0
000000000000000000000000000000000000+400
000000000000000000000 Q00000000000 Z+28=5
0000000000000 I-38=200000000000000000000
0o0oooo0

0000000000000000000000000n|63,3,2+) 0 p|5,3,2,3-)
000000000000 0000000000000000000 Q000000
000000000 I-3=1000000000000000000000000
0000 033MeVOOOOOODOOOOOOOOOOOODOOOOOOOOOO0O0O
000000 033MeVOODOODOOOOOODODOOOOODOOOOODOOOOOdO
ooo

0000000000000000000000000 nf52,1,3-)0 pl4,1,1,34)
000000000000000 3-00-000000000000000000
0000000
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0 7.7: 'Ho N=99,7=6700 00O

00 O0000 (MeV) DO00O0DDOO (MeV)O B v
n|6,3,3, I+) -1340.5853 0 0.3227  0.00
pl4,1,3,24)
n|5,1,2, 2—) -1340.5505 0.0348 0.3304 0.02
n|5,1,2, 2—) -1340.2648 0.3205 0.3361  6.40
p|5,5,0,5—)
n|5,2,1, %) -1340.1178 0.4675 0.3462  0.00
pl4,1,1,2+)

66Ho N=09,7=67 00000000000 7.70000000000000000
000000000000000000000000000000000000000
00000000000000000000 16,3,3,24+)000 [4,1,3,2+) 00000
0000000000000000000000 #|6,3,3,2+)0 pl4,1,3,3+) 0000
oooooooog

00000000000000000-00000000000000+00000
00000000000I+%3=6000 1-2=100000000000000
000000000000000000000000000000-00000000
ooo

0000000000000000000 »l63,3,14)0 p523,I-)000000
00000 QD0000000000000000000000000000000
0D0-000000000000000000000000000000000000

oboobon
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0 7.8: 64Ho N=97,7=6700000

00 O0000 (MeV) DO00O0DDOO (MeV)O B ()
n|6,3,3, I+) -1326.4246 0 0.3245 5.15
pl4,0,2, 34)
n|6,3,3, I+) -1326.4113 0.0133 0.3327 11.95
pl5,2,3,2—)
n|5,1,2, 2—) -1326.3361 0.0885 0.3221  0.98
pl4,1,1,2+)
n|5,2,1, %) -1326.1271 0.2975 0.3388  1.60
p4,0,2, I+)

o N=97,7=6700000000000 780000000 [6,3,3,2+)000
4,0,2,5+)000000000000000000000000000 n6,3,3,1+)0
p|4,02,5+) 0000000000000

0000000000000000 1+4000,0000000000+400000
00000000000000000Q0000000000000000 Z-3=1
0o0oooo

000000000000000 252,1,3-)0 pl523,I-) 000000000
000 5+ 000 2+ 0000000000000000000000000000
nl52,1,3-) 0 n|6,3,3,I+) 00000000000000 (00 100keVO0)000
p|5,2,3, 1) 0 p[4,0,2,2+) 000000000000 2MeVOOOODO000D000
Skyyme 0000 SLy400 0000000000000 O00O0O00OOOOOOODOO

gbobobuoooobbbuooobbboooobbobuoooobbbao
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7.2 SkyrmeU O SIIOOOOOOO

7.2.1 0OU

0 7.9: Th N=98,Z=6500000
00 00000 (MeV) 0000000 MeV)O 8~ (°)

14,04, I+) -1319.4234 0 0.3290 4.54
14,1,1,2+) -1319.4216 0.0018 0.3290 10.12
5,2,3,2—) -1318.8586 0.5648 0.3156  6.23
5,4,1,1 ) -1318.3476 1.0758 0.3366  2.89

16Th N=98,Z=650 0000000000 790000000000 |4,0,4, 2+) 0
0000D0000000000000000000000 [404,I4+)0000000
0000000000

000000 75000000000000000000000000000000
0000000000000 6000000000000000000300000
000070000000000000000000000060000000000
00000000000027MeVOODOODOODOOOOOOOO0O

0000000000000000 $40000000000000000 7900
0000000000

Skyrme 00 SLy4 000 000000000000 O00OO0O00OO0O0O0O0OO0O0OO0
00000000Skyrme 00 SLy40 000000 6Th N=98,7=6500000 0
0000000000
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0 7.10: "Dy N=99.Z=66 0 0 0 0 O
00 00000 (MeV) 0000000 MeV)O 8 v (°)

5,1,2,5—) -1333.5845 0 0.3231 0.01
16,2,4,2+) -1333.2791 0.3054 0.3239 0.04
16,3,3,2+) -1333.0947 0.48983 0.3145 0.01
5,2,1,5 ) ~1332.6942 0.8903 0.3228 0.01

165Dy N=99,.7=660 0000000000 7100000000000 ]5,1,2,%—>D
gobobobbbboouodugooooooooooboobbo |5,1,2,g—>DDDDDDD
gobobooogon
oboobodr40booboobbooboobooboobobbooboobOoon
goboboogoobobboooyybbuoogoooboooooobooog o3n
obogobogo wrbbooboboobuooobooooboooboo sgd
Obhoboboooobobooboboooboo22MeVvO00O0ODbOOOOoOobOOnDODO
DDDDDDDDDDDDDDDD%—i—DDDDDDDDDDDDDDD 71000
DDDDDDDDDDD\6,3,3,%+)DDDDDDDDDDDDDDDDDDDDDDD
oooboboobobg N=9900b0b0obobooboboboboboooon
gooboooobobbuoooobobbooooboood
OO0000obo0obOooobboobOoboobooobooDog22MeVOO0Oooonog
OO0000b00o0boOoboboOooDo049MeVOODODODODOOODOOODOOSkyrme

00 SLy400000000000O0 (p28)00O0ODOODO
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0 7.11: 8Dy N=97.Z=66 0 00 0 O
00 00000 (MeV) 0000000 MeV)O 8 v (°)

16,3,3,2+) ~1320.0801 0 0.3135 0.23
5,1,2,5-) ~1319.9693 0.1108 0.3158 0.31
15,2,1,1-) ~1319.8262 0.2539 0.3182 0.03
5,2,1,3—) ~1319.6362 0.4439 0.3198 0.03

18Dy N=97,Z=66 00000000000 7110000000000 [6,3,3,2+) 0
00000000000000000000000000 63,3,24)0000000
0000000000

0000000000000000 3-0000000000000000 71100
00000000000 |51,2,5-)00000000000000000000 N =97
000000000000000000000000000000000000000
0000000000000 7.110000000000000
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0 7.12: 1%Ho N=98,7=67000 0

00 00000 (MeV) 0000000 MeV)O 8 v (°)

14,0,4,7+) ~1333.4617 0 0.3156 1.49
14,1,1,14) ~1333.2015 0.2602 0.3197 1.57
5,3,2,3—) ~1333.1816 0.2801 0.3455 5.80
15,2,3,2—) ~1332.6535 0.8082 0.3007 3.75

9

16Ho N=98,Z=6700000000000 712000000000 [4,04,1+)00
0000000000000000000000000 [404,24)00000000
ooooo

000000750 00000000000000000000000000000
0000000000000 6700000000000000000 0300000
000O0710000000000000000000000050000000000
0000000000000000I-0000000000000000 7200
00000000000 [523,l-)0000000000000000000000
000000000000 00000000000000000000 0.8MeVODODO
00000000000000000000000000000000000000
00000000000 000000000000000000000000
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7.2.2 00O

0 7.13: 14Th N=99,7=650 000 O

00 D0000 (MeV) 0O00O0DDO (MeV)O 3 v (°)
n|5,1,4, 1—) -1324.1840 0 0.3250  8.36
pl4,0.4, 2+)
n|6,3,3, +) -1324.0837 0.0703 0.32334  2.58
pl4,0,4, I+)
n|5,1,2, 2—) -1324.1779 0.1704 0.3188  3.05
pl5,2,3,2—)
n|5,1,4, 2—) -1323.5389 0.6451 0.3137 10.78
p[5,2,3, 1)

64T N=99,Z=65 00000000000 7130000000 [5,14,2-) 000
4,04,I+)000000000000000000000000000 n5,1,4,1-)0
p|4,04,1+) 0000000000000

0000000000000000 (5+)0000000000000000000
000000000000+ I=70001-1=000000000000000
000000000000000000000000000005+0000000

00000000000000000000000000000000 n/5,1,4,%-)
00000000000 1.6MeVOOOp|4,04,I4+) 00000000000 2.4MeV O
000000000000 00000000000000000000000000
00000000000 0000000000
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0 7.14: 192Th N=97,7=6500 000

00 O0000 (MeV) DO00O0DDOO (MeV)O B v
n|6,3,3, 2+) -1312.2843 0 0.3211 0.23
pl4,1,1, 24)
n|5,1,2, 2—) -1312.1946 0.0897 0.3236 0.28
pl4,1,1, 2+)
n|5.2,1, %) -1311.9810 0.3033 0.3256 0.15
pl4,1,1, 1+)
n|5,2,1, 3—) -1311.9181 0.3662 0.3259  0.03
pl4,1,1,2+)

102Th N=97,7=6500000000000 7140000000 6,33, I+ 000
4,1,1,34)000000000000000000000000000 n6,3,3,1+) 0
p|4,1,1,34) 0000000000000

0000000000000000 (1-)00000000000000+40000
0000000000000000000Q00000000000 I+2=5000
0000000000 I-2=200000000000000000000000
ooo

0000000000000000000000000n|5,1,2,5-) 0 pl4,1,1,34)
000000000000 00000000000000000000 Q00000
0000000000 $-3=1000000000000000000000000
0000000000n|52,1,5-)0p4,1,1,2+)0000000000000000
0000000000000000Q000000000000000 2-1=10
ooooo

0000000000000000000000000.00MeVOOOOOOOODO
00000000000000000000000000.00MeVOOO0OO0O0O000O

gbobodgbbuogbboooobboooboobbuogboboooobboobboon
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0 7.15: 1%Ho N=99,7=6700 00O

00 D0O000 (MeV) 0OOOOO0DOO (MeV)DO 3 ()
n|5,1,2, 2—) -1340.0673 0 0.3220 0.01
pl5.4,1,3—)
n|5,1,2, 2—) -1339.7983 0.2690 0.3180  0.00
pl4,0.4, Z+)
n|5,1,4, 2—) -1339.6901 0.3772 0.3222  0.00
pl4,1,1, 1+)
n|5,1,4, 2—) -1339.6616 0.4057 0.3064 0.03
pl4,0,2, 3+)

166Ho N=99,Z=67 00000000000 7150000000 [5,1,2,5-)000
54,1,1-)000000000000000000000000000 7|5,1,2,3-)0
pl5,4,1,1)0000000000000

00000000000000000-00000000000000040000
0000000000003 +1=30003-1=200000000000000
0000000000000000000000000-0000000
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0 7.16: 4Ho N=97,Z=6700000

00 00000 (MeV) 0000000 MeV)O B8 4 (°)
n|6,3,3, 1+) 11325.4422 0 0.3208 9.52
p|574717 %_>
n|6,3,3, %+> -1325.2209 0.0133 0.3052 10.19
pl4,L1, 5+)
n5,2,1,%-) -1325.1082 0.2975 0.3111 1.64
pl4,L1, 5+)
n|5,0,5, 1—21—> -1325.0535 0.2975 0.3293 7.89
p|574717 %_>

o N=97,7=67 00000000000 7160000000 6,33, 2+) 000
54,1,1-)000000000000000000000000000 n6,3,3,1+)0

pl5,4,1,1) 0000000000000

00000000000000001+000,0000000000000000
000000000000%+43=4000 1-4=300000000000000
000000000 716000000000000000000000000000

2

obobbobooboobooboobo
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73 Uoouuobguuooobobuoooboobon
[]

O717. 0000000000000 0D000D000Dexp. 0 00O0OONILODOODO
OO00OSLy4 O SIIOODOODO SkyymeODOOO0O0OOO0D0OOOOOOODOOODOODO
gboboboooobbbuooobboboooobbobuoooobn

12¢H097 12§H098 lggHOQQ
exp. | Nil. | SLy4 | SII exp. | Nil. | SLy4 | SII exp. | Nil. | SLy4 | SII
5+ | 6+ | 4— 7— | 6+ | 3+
1+ =i 3+ | i+ 0—
I+ | 1+ | 3— O— | 1+ | 2+
"8eDyor 183DY98 "6eDy g
exp. | Nil. | SLy4 | SII exp. | Nil. | SLy4 | SII exp. | Nil. | SLy4 | SII
5 ; 7
S| I+ | I+ 0+ | 0+ | 0+ |0+ + I+ ] 35— | 3-
185 Tz 185 Tbog 185 Thgg
exp. | Nil. | SLy4 | SIIl exp. | Nil. | SLy4 | SII exp. | Nil. | SLy4 | SII
3- 5+ | 5+ 5+ | 64+ | T—
(1-) S+l 4 | i+ (5-+)
0- 24+ | 2+ 24+ | 1+ | 0—
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JO0ADO0OO00HFODDOOOO
HRERERERE

OO0 HFODDOOODOOOOOOODOODDOOODOOODOOOODODO!IDDOOO
gobbobboogogobboobboooooobobboooooooboon
gbbobbbotbouoooobbbbuodooooobobbobbuooooobbooo
gbobogobbuooobboobuoobooobbooobboobobuooobobn
gbbboooobbboooobbob

! Tb162 HFB 2014/1/16
! created by modifying ca48_lip.dat

I This file is part of the official HFODD v2.49t release and demonstrates
I the use of the Lipkin translational energy correction.

NUCLIDE IN_FIX 1IZ_FIX
97 65
ITERATIONS NOITER gddooouooooouooooouoooood
1000 200 20
ITTERAT_EPS EPSITE
! 0.0000001
ISLOW_DOWN SLOWEV SLOWOD
! 0.5 0.5
ISLOW_PAIR SLOWPA
! 0.5
IMAXANTIOSC NULAST
! 5
IPING-PONG EPSPNG NUPING
! 0.01 3
ICHAQTIC NUCHAOQ
! 5
!
e e Interaction -----------
SKYRME-SET SKYRME
SLY4 gddooooouooouoouoooooobooooao
ISKYRME-STD ISTAND KETA_J KETA_W KETACM KETA_M
! 1 0 1 1 0
ILANDAU LANODD XO_LAN X1_LAN GO_LAN GOPLAN Gi1_LAN G1PLAN
! 000 20.73533 0.16 0.896 0.4 1.2 0.0
'EVE_SCA_TS RHO RHOD LPR TAU SCU DIV
! 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
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IODD_SCA_TS
I

IEVE_SCA_PM
!
I0DD_SCA_PM
!

!

!

PAIRING

HFB

SPI
1.

RHO
1.

SPI
1.

IPAIRI

1

IPAHFB

1

PAIR_FORCE VO

!
!
ROTATION

I SIMPLEXY
I

ISIGNATUREY
I

I TSIMPLEXES
!
!
I

IPHNONE_NEU
]

IPHNONE_PRO
I

I'VACSIM_NEU
I

I'VACSIM_PRO
I

IPHSIMP_NEU
I

IPHSIMP_PRO
I

I'VACSIG_NEU
I

I'VACSIG_PRO
I

IPHSIGN_NEU
I

IPHSIGN_PRO
I

IDIASIM_NEU
I

IDTASIM_PRO
!

Vi

-220.0 0.0

TROTAT

1

ISIMPY

1

ISIGNY

1

ISIMTX

1

PPSP
07
PPSP
07

00

00

alpha
1.0

ISIMTZ
1

PARTICLES
000
PARTICLES
000
SIMP SIMM
69 68
SIMP SIMM
44 44
PARTICLES
00 00
PARTICLES
00 00

PPSM PMSP
07 07
PPSM PMSP
07 03
PARTICLES
00 00
PARTICLES
00 00
PARTICLES
00 00
PARTICLES
00 00

LPS CUR
. 1. 1.
LPR TAU
. 1. 1.
LPS CUR
1. 1.
Pairing
Symmetries
Configurations
PMSM
07
PMSM
03
00 00
00 00

50

HOLES
00 00
HOLES
00 00

HOLES
00 00
HOLES
00 00
HOLES
00 00
HOLES
00 00

00

00

TYPE
0 O
TYPE
0 O



IDIASIG_NEU
I

IDIASIG_PRO
!

!

!
BASIS_SIZE

'HOMEGAZERO
I

IEPS_HERMIT
I

IOPTI-GAUSS
I

!GAUSHERMIT
I

SURFAC_PAR
SURFAC_DEF
SURFAC_DEF

SURFAC_DEF

!
!
!
!
OMEGAY

IMAX_MULTIP
I

IMAX_SCHIFF
I

MULTCONSTR

NILSSONLAB

I'PRINT-ITER
I

IPRINT-MOME
I

IEALLMINMAX
I

IEQUASI_MAX
!
!
!

PARTICLES HOLES

00 00 00 00 00 00 00 00
PARTICLES HOLES

060 00 00 00 00 00 00 00

Parameters of the HO basis
NOSCIL NLIMIT ENECUT
14 680 800.0
FCHOMO
1.2
EPSHER
1.E-14
IOPTGS
1
NXHERM NYHERM NZHERM

34 34 34
INNUMB IZNUMB ROPARM

98 66 1.23
LAMBDA MIU ALPHAR

2 0 -0.150000000000a 2000
LAMBDA MIU ALPHAR

2 2 -0.1837117307 00000 2200
LAMBDA MIU ALPHAR

4 0 o.odUldb0dlD0OUObOUOO0O 4000

2 0 0.20

4 0 0.0

——————————— Constraints ------------
OMEGAY
0.00
NMUCON NMUCOU NMUPRI
3 4 4
NSICON NSIPRI
0 0

LAMBDA MIU STIFFQ QASKED TIFLAGQ

2 0 0.10 17.0 0
NILXYZ

200000000DL00bL yOODOODLDOODO

—————— Output-file parameters ----—-
IPRSTA IPRMID IPRSTO
1 0 1
IPRI_N IPRI_P IPRI_T
1 1 1
EMINAL EMAXAL
-72. 10.
EMAXQU
10.
—————————————— Blocking —-——-———-—————-
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BLOCKSIG_N

BLOCKSIG_P

'REVIEWFILE
I

IRECORDFILE
I

IREPLAYFILE
I

IREC_FIELDS
I

IREP_FIELDS
I

ICOULOMFILE
]

IREVIEW
I

IRECORDSAVE
I

ICOULOMSAVE
I

IFIELD_SAVE
I

I'FIELD_OLD
!
I
I

IRESTART
I

ICONT_PAIRI
I

INILSSONPAR
!

!

!
EXECUTE

ALL_DONE

INSIGN IPSIGN

25 0
INSIGP IPSIGP
17 0

FILREV

ca48_lip.rev
FILREC
ca48_lip.rec
FILREP
ca48_lip.rec
FILREC
ca48_lip.fic
FILREP
ca48_lip.fic
FILCOU
ca48_lip.cou
IREVIE

1
IWRIRE

1
ICOULI

1 1
IWRIFI

1
IWRIOL

1

ICONTI
0

IPCONT
0

NILDAT

ICOULO

ISSIGN

0

ISSIGP

0

-0.247

IDSIGN
1
IDSIGP

-1.175

Calculate

Terminate

52

-0.352 11.170

CNILSN DNILSN CNILSP DNILSP HBANIX HBANIY
0 -1.175

11.170

HBANIZ
6.280



OB UOOOOOHFODDOOOOO

OO0O0O00HFODDOOODOODOOODODOOOODODODODOODbOOOoooooobog
obobboobooboobooboobo

3k 3k >k 5k >k 3k 3k 5k 3k 5k 5k >k 3k 5k 3k 5k >k 3k >k 3k 3k 5k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 3k >k >k 5k >k 5k >k >k >k 3k 5k >k 5k >k %k 5k 3k 5k %k 5k >k %k 5k >k 5k %k >k >k %k >k >k >k %k %k *k %k

* *
* SINGLE-CORE VERSTION x
+ 000000000000000000000000000000000000000 *
3k 3k 3k >k >k >k >k >k 5k 5k >k 3k 3k 3k 3k 3k 3k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k >k 3k 5k 5k 3k 3k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k >k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k 5k %k 5k 5k >k %k >k %k >k >k >k >k >k >k >k
L3 k
* HFODD ~ HFODD  HFODD  HFODD  HFODD  HFODD  HFODD ~ HFODD
3 k

3k 3k 3k 5K >k >k 3k 5k 3k 5k >k >k 3k 3k 3k >k %k >k 5k 3k >k >k 5k 3k 5k 5k >k >k 5k 5k 3k >k %k >k >k 5k >k >k %k 5k >k >k >k >k >k 5k 5k 5k >k >k %k >k 3k >k %k >k >k >k >k >k %k %k >k > >k >k >k %k >k >k %k >k %k >k > %k *k >k >k

SKYRME-HARTREE-FOCK-BOGOLYUBOV CODE VERSION: 2.49T
Ub0o0oobooooboooobooboo2.49tb00gboon
NO SYMMETRY-PLANES AND NO TIME-REVERSAL SYMMETRY

DEFORMED CARTESIAN HARMONIC-OSCILLATOR BASIS

%X K XK X X X ¥
X X ¥ X x ¥ ¥

3k 3k >k 5k >k 3k 3k 3k 3k 5k 3k >k 3k 3k 5k 3k >k 3k >k 5k 3k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 3k >k 5k 5k >k 5k >k 3k 3k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k %k

J. DOBACZEWSKI, B.G. CARLSSON, J. DUDEK, J. ENGEL
J. MCDONNELL, P. OLBRATOWSKI, P. POWALOWSKI, M. SADZIAK
J. SARICH, W. SATULA, N. SCHUNCK, J.A. SHEIKH
A. STASZCZAK, M. STOITSOV, P. TOIVANEN, M. ZALEWSKI
AND H. ZDUNCZUK

INSTYTUT FIZYKI TEORETYCZNEJ, WARSZAWA
LAWRENCE LIVERMORE NATIONAL LABORATORY, USA

1993-2011

* Ok X X X X X X X X X ¥
* K X X X X X X X X X ¥

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 3k 5k 5k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 5k >k 3k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k 3k 3k 5k 5k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k 5k >k %k 3k >k 5k %k %k >k %k 5k %k >k %k %k *k %k

3k 3k >k 5k >k 3k 5k 3k 3k 5k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k >k >k %k 5k %k >k %k %k >k %k >k %k >k %k %k *k >k

* *
* CODE COMPILED WITH THE FOLLOWING ARRAY DIMENSIONS AND SWITCHES: *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 3k >k >k %k >k 5k 5k >k %k >k 5k 5k >k >k >k 3k 3k 5k >k %k >k 5k >k >k >k %k >k >k >k >k %k >k 5k 5k >k >k >k >k 5k >k >k %k >k >k >k >k >k >k 5k 5k >k >k %k >k %k >k >k %k >k %k >k >k >k *k >k k

* *
* NDBASE = 680 NDSTAT = 680 NDXHRM = 40 NDYHRM = 40 NDZHRM = 40 =*
* *
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* NDMAIN = 16 NDMULT = 9 NDMULR = 4 NDLAMB = 9 NDITER = 5000
* *
* NDAKNO = 1 NDBKNO = 1 NDPROI = 20 NDCOUL = 80 NDPOLS = 25 =«
* *
* NDPROT = 10 NDBTKN = 10 *
* *
* IPARAL = 0 I_CRAY = 0 *
* *
* *
* PRE-PROCESSOR OPTIONS: *
* *
* switch_port = 1 switch_diag = 3 switch_cray = O *
* *
* switch_nagl = 0O switch_quad = 0 switch_vect = 1 *
* *

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 5k >k 3k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 5k >k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k >k 5k %k %k >k %k 5k %k >k %k %k *k k

« Jd0ooboooooobdbogobooboobobooobobobooobobooobo *
* EXECUTION BEGINS ON 2014.01.21 AT 21:17:34.119 *
* *

3k 3k >k 5k >k 3k 5k k 3k %k 5k >k 3k 3k 5k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 3k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k >k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k >k %k >k >k %k 5k >k >k %k >k *k >k

3k 3k 3k 5k >k >k 3k 3k 5k 5k %k >k k 3k >k >k %k >k 5k 5k >k >k >k k 5k >k >k >k 5k 5k 5k >k %k >k 3k 5k >k >k >k >k 5k >k >k %k >k 3k 5k >k >k >k >k 5k >k >k %k >k 3k >k >k >k >k >k 5k >k >k %k >k %k >k >k %k >k %k >k >k >k *k >k k

* *
* CLASSICAL NUCLEAR SURFACE DEFINED FOR: N = 98 Z =66 =x
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 5k 5k >k %k 5k 5k 3k >k >k 5k 3k 5k >k >k >k 5k 5k 5k >k %k >k 5k >k >k >k %k 5k >k >k >k >k >k 3k 5k >k >k >k %k >k >k >k %k >k >k >k >k >k %k 5k >k > >k >k >k %k >k >k %k >k %k >k > *k *k >k >k

* *
* AL10 = ZERO AL11 = ZERO .. e e e *
* *
* AL20 = -0.150 AL21 = ZERO AL22 = -0.184 ... ... .. 0 i *
* *

sk sk ok ok ok sk ok sk ok sk ok stk sk ok sk ok ok ook ook ook ook ook ook ook s ok ok s ok ok ok s ok ok ok o ok sk ok sk ok ok ok sk ok sk sk ok ok sk sk ok sk ok sk ok sk ok skok ok ok ok

* *
* HOMEGA= 8.9884 FCHOMO= 1.2000 =
* *
* (OSCILLATOR FREQUENCIES: HBAROX= 9.8698 HBAROY= 7.4549 HBAROZ= 9.8697 x*
* *
* MOMENTS OF INERTIA: XMOMFC= 81.8621 YMOMFC= 59.4753 ZMOMFC= 81.8619 x*
* *
* CENTERS OF MASS: CMSXFC= 0.0000 CMSYFC= -0.0000 CMSZFC= 0.0000 =*
* *

3k 3k >k 5k >k 3k 5k 3k 3k %k 5k >k 3k 3k 5k 5k >k 3k >k 3k 5k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k >k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k 5k %k >k >k %k 5k >k >k %k >k *k >k

3k 3k 3k 5k >k >k 3k 3k 5k 5k %k >k 5k 3k 5k >k %k >k 5k 5k >k %k >k k 5k >k >k >k 5k 3k 5k >k %k >k 5k 5k >k >k >k >k 5k >k >k %k >k 5k 5k >k >k >k 3k 5k >k >k %k >k 3k >k >k >k >k >k 5k >k >k %k >k %k >k >k %k >k %k >k >k >k k >k k

* U000 skyrme 00O 0O00OO0ODOOOODODOOOODOOOODODOOOOO *
* SKYRME FORCE DEFINITION *
* *

stk sk ok ok s ook ok ok ok sk ok ok s ok sk ok sk ok sk ok ok s sk sk ok sk ok sk ok sk ke sk sk ok sk sk sk ok sk ok sk sk ok ok sk ok s ok sk sk ok ke sk sk ok ok sk sk sk ok sk sk ok sk sk sk ok ok sk ok ok k ok ok
* *
* PARAMETER SET SLY4: TO= -2488.91 T1=  486.82 T2= -546.39 T3= 13777.00 *

o4



* *
* POWER=1/6 W=123.000 XO= 0.83400 X1= -0.34400 X2= -1.00000 X3= 1.35400 *

* *
* ETA_J=0 ETA_W=0 ETACM=0 ETA_M=1 HBM= 20.73553 (SKYRME-FORCE SPIN-ORBIT) *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 3k >k >k 3k 5k 3k >k %k >k 5k 3k >k >k %k 3k 5k 5k >k >k 5k 5k 3k >k %k >k 5k 5k >k >k %k 5k >k >k >k >k >k >k 5k 5k >k >k %k >k 3k >k %k >k %k >k >k >k >k >k >k > >k >k >k %k >k >k %k >k %k >k 3% %k *k >k >k

3k 3k 3k 5k >k >k 3k 5k 3k >k %k >k 5k 5k 3k >k >k 3k 5k 5k >k >k >k 3k 5k 5k >k >k 3k 5k 3k >k >k >k 5k 5k 3k >k %k 5k >k >k >k >k >k 3k 5k 5k >k >k %k >k 3k >k >k >k >k 5k >k >k %k %k >k >k >k >k >k %k >k > %k >k %k >k 5% %k *k >k >k

NON-STANDARD TREATMENT OF THE SKYRME FORCE: ETA_J=1 ETA_W=0 ETACM=0 ETA_M=0

THIS INCLUDES:

NON-STANDARD TREATMENT OF THE TENSOR TERMS: THESE TERMS HAVE BEEN INCLUDED

NON-STANDARD TREATMENT OF THE HBAR"2/2M PARAMETER:
VALUE FROM THE PREVIOUS VERSION (v1.75r) HAS BEEN USED: HBMASS= 20.73620941

¥ X X X X X ¥ X * x
¥ X ¥ X ¥ X ¥ X * x

3k 3k 3k 5K >k >k 3k 5k 3k 5k >k >k 5k 5k 3k >k %k 5k 5k 5k >k >k 5k 3k 5k >k >k >k %k 5k 3K >k >k >k >k 5k 5k >k >k 5k 5k 5k >k >k >k 5k 3k 5k >k >k %k >k 3k >k >k >k >k >k >k >k >k >k >k > >k >k >k %k >k >k %k >k %k >k 5% %k *k >k >k

sk sk ok ok ok sk ok sk ok sk ok sk ok sk ok sk ok st ok ok ook ook ook ook ook ook s ok s ok s ok o ok o ok s ok o ok o ok sk ok sk ok ok ok sk ok sk sk ok ok sk sk ok skok sk ok sk ok ok ok ok ok

* *
* COUPLING CONSTANTS DEFINING THE SKYRME FUNCTIONAL *
* *

3k 3k >k 5k >k 3k 3k 3k 3k %k 3k >k 3k 3k 5k 3k %k 3k >k 5k 3k >k 3k >k 3k >k 5k 3k >k 3k >k 3k 5k 5k 5k >k 3k >k 3k 5k >k 5k >k 3k 3k 5k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k >k 3k >k %k 5k %k 5k %k %k k k

* *
* TOTAL(T) SUM(S) ISOSCALAR(P) ISOVECTOR(M) *
*x  mmmmmeem mmmeee s *
* CRHO_ = -1763.394861 1660.104971 -933.342375 830.052485 *
* CRHOD = 1925.335750 -2128.546500 861.062500 -1064.273250 *
* CLPR_ = -92.653338 31.314270 -76.996203 15.657135 *
* CTAU_ = 32.471951 49.313473 57.128687 24 .656736 *
* CSCU_ = -47.366201 129.151625 17.209611 64.575812 *
* CDIV_ = -61.500000 -61.500000 -92.250000 -30.750000 *
* *
* CSPI_ = -518.938360 622.228250 -207.824235 311.114125 *
* CSPID = 777.252417  -574.041667 490.231583  -287.020833 *
* CLPS_ = 32.774724 28.564344 47.056896 14.282172 *
* CCUR_ = -32.471951 -49.313473 -57.128687 -24.656736 *
* CKIS_ = 47.366201 -129.151625 -17.209611 -64.575812 *
* CROT_ = -61.500000 -61.500000 -92.250000 -30.750000 *
* *

sk sk ok ok ok sk ok sk ok sk ok sk ok sk ok sk ok ok ook ook ook ook ook ook ook s ok ok s ok o ok ok ok s ok o ok o ok sk ok sk ok ok ok sk ok sk sk ok ok sk ok ok skok sk ok sk ok skok ok ok ok

stk st sk ok st ok sk ok ok sk s ok sk sk ok st ok sk o ok sk s ok stk sk st ok sk sk ok sk sk ok st sk sk sk ok sk s ok sk sk ok stk sk s ok sk sk ok sk sk sk sk sk sk sk ok sk s ok sk sk ok ok sk ook sk ook ok ok

* J0d00b0booobooboooobooon *
* PHYSICAL CONSTANTS: H_BARC=197.32891000 HBCOE2=137.03602000 *
* *
* XMASSN=938.90590000 XMASSP=938.27231000 *
* *
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HBMASS= 20.73620941 HBMRPA= 20.60820812

ECHAR2= 1.43997841 COULEX= -1.06350868

* %X ¥ *
* %X ¥ *

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 3k 5k 5k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k 5k %k %k >k %k 5k %k >k %k %k k k

* *
* (OSCILLATOR LENGTHS: X= 2.0498695 Y= 2.3586318 Z= 2.0498730 *
* *
* (OSCILLATOR CONSTANTS: X= 0.4878359 Y= 0.4239746 Z= 0.4878351 *
* *
* (OSCILLATOR FREQUENCIES: X= 9.8697674 Y= 7.4548530 Z= 9.8697342 *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k >k >k 5k 3k 5k >k %k 5k 5k 5k >k %k >k 3k 5k >k >k >k 5k 5k 5k >k %k >k >k 5k >k >k %k >k >k >k >k >k >k 5k 5k >k >k >k %k >k >k >k %k >k >k >k >k >k >k >k 5k >k >k >k >k %k >k >k %k >k %k >k > *k *k >k k

* *
* BASIS CUT-OFF CONTROL PARAMETERS: NXMAXX = 13 NYMAXX = 14 NZMAXX = 13 =*
* *
* OPTIMUM NUMBERS OF GAUSS POINTS: NXHERM = 28 NYHERM = 30 NZHERM = 28 x*
* *
* NLIMIT= 680 LDBASE= 680 MCOUNT= 3375 *
* *
* ENECUT= 800.0000 ELIMIT= 144.5290 *
* *

3k 3k >k 5k >k 3k 3k 3k 5k 5k 5k >k 3k 3k 5k 5k %k 3k 3k 5k 3k 3k 5k >k 3k 3k 5k 5k >k 3k >k 3k 5k 5k 5K >k 5k >k 3k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 5k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k k k

KK KKK KoK oK oK oK oK oK oK oK oK oK oK ok ok ok ok o o o o K K K K K KK KK oK oK oK oK oK oK oK oK oK ok ok ok ok ok o o o o K K K K K K KK K oK oK oK oK oK oK oK oK oK ok oK ok ok ok ok
* Q0000000000000 000 truncation 00O O0OOOOOOODOO

*  SHAPE OF THE OSCILLATOR-BASIS DIAMOND (THREE CONSECUTIVE PROJECTIONS) *
* *
KK K KKK KoK oK oK oK oK oK oK oK oK oK oK oK ok o o o o o K K K KK KK oK oK oK oK oK oK oK oK oK oK oK oK oK oK ok ok o o o o K K K K K K oK oK oK oK oK oK oK oK oK oK oK oK oK ok ok ok ok ok

* *
* NX ===>>> 0 1 2 3 4 5 6 7 8 9 10 11 12 13 *
* MAX.NY => 14 14 14 13 1210 9 8 6 5 4 2 1 O *
e *
* NY=0 (13) | 13121110 9 8 7 6 5 4 3 2 1 0 *
* NY=1 (12) | 121110 9 8 7 6 5 4 3 2 1 *
* NY=2 (11) | 1110 9 8 7 6 5 4 3 2 1 0 *
* NY=3 (10) | 1110 9 8 7 6 5 3 2 1 0 *
* NY=4 (10) | 10 9 8 7 6 5 4 3 2 1 0 *
* Ny=5 (9 | 9 8 7 6 5 4 3 2 1 O *
* NY=6 (8 | 8 7 6 5 4 3 2 1 0 *
* Ny=7 (7) | 7 6 5 4 3 2 1 0 *
* NY=8 (7) | 7 6 5 4 3 2 1 0 *
* Ny=9 (6) | 6 5 4 3 2 1 0 *
* NY=10 (5) | 5 4 3 2 1 0 *
* NY=11 (4) | 4 3 2 1 0 *
* NY=12 (4) | 4 3 2 1 0 *
* NY=13 (3 | 3 2 1 0 *
* NY=14 (2) | 2 1 0 *
* *
* *
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* NZ===>>> 0 1 2 3 4 5 6 7 8 9 10 11 12 13 *
* MAX.NY => 14 14 14 13 1210 9 8 6 5 4 3 1 0 *
e ettt e e *
* NY=0 (13) | 13121110 9 8 7 6 5 4 3 2 1 O *
* NY=1 (12) | 121110 9 8 7 6 5 4 3 2 1 *
* NYy=2 (11) | 1110 9 8 7 6 5 4 3 2 1 0 *
* NY=3 (11) | 10 9 8 7 6 6 5 4 3 2 1 0 *
* NY=4 (10) | 10 9 8 7 6 5 4 3 2 1 0 *
* NY=5 (9) | 9 8 7 6 5 4 3 2 1 0 *
* NY=6 (8 | 8 7 6 5 4 3 2 1 0 *
* NY=7 (7) | 7 6 5 4 3 2 1 0 *
* NY=8 (7) | 7 6 5 4 3 2 1 0 *
* NY=9 (6) | 6 5 4 3 2 1 0 *
* NY=10 (5) | 5 4 3 2 1 0 *
* Ny=11 (4) | 4 3 2 1 0 *
*  Ny=12 (4) | 4 3 2 1 0 *
* NY=13 (3 | 3 2 1 0 *
* NY=14 (2) | 2 1 0 *
* *
% *
* NZ===>>> 0 1 2 3 4 5 6 7 8 910 11 12 13 *
* MAX.NX => 13 121110 9 8 7 6 5 4 3 2 1 0 *
¥ e *
* NX=0 (13) | 14 14 14 13 12 10 9 8 6 5 4 3 1 O *
* NX=1 (12) | 14 14 131210 9 8 6 5 4 3 1 0 *
* NX=2 (11) | 14 131210 9 8 6 5 4 3 1 0 *
* NX=3 (10) | 131210 9 8 6 5 4 3 1 0 *
* NX=4 (9) | 1210 9 8 6 5 4 3 1 0 *
* NX=5 (8 |10 9 8 6 5 4 3 1 0 *
* NX=6 (7) | 9 8 6 5 4 3 1 0 *
* NX=7 (6) | 8 6 5 4 2 1 0 *
* NX=8 (5) | 6 5 4 2 1 0 *
*x NX=9 (4 | 5 4 2 1 0 *
* NX=10 (3) | 4 2 1 0 *
* NX=11 (2) | 2 1 0 *
* NX=12 (1) | 1 0 *
* NX=13 (0) | O *
k *

3k 3k 3k 5K >k >k 3k 5k 3k 5k >k >k 3k 5k 3k >k %k >k 3k 5k >k >k 5k 3k 5k 5k >k >k 5k 5k 3k >k %k >k 5k >k >k >k >k 5k 5k >k >k >k 5k 5k 5k >k >k >k %k >k >k >k %k >k %k >k >k >k %k >k >k >k >k >k %k %k >k >k %k >k %k >k 5% Xk *k >k %k

3k 3k 3K 3k 3k 5K Sk 3k 5k Sk 3k 5k 5k 5k >k 5k 3k >k 5k 3k %k 5k Sk %k 5k Sk %k 5k Sk 5k 5k Sk %k 5k 5k 5k 5k 5k 3k 5k 5k 5k >k 5k 3k >k 5k 5k %k 5k 5k >k 5k 3k %k 5k 5k 5k 5k 5k 3k 5k 5k 5k >k 5k 3k >k 5k %k >k 5k sk %k ok sk k k >k
+ 000000000000 9700000 65000000000000 100000000

*

* NUCLIDE: N = 97 Z = 65 NUMBER OF ITERATIONS = 1000 CONTINUATION? = 0 *
* *
3k 3k 3k 3k >k 3k Sk 3k 3k Sk 3k ok ok 3k >k Sk 3k >k 3k 3k >k 3k 3k >k 3k Sk 5k 3k Sk 3k 5k Sk sk ok Sk 3k >k Sk 3k ok ok 3k >k 5k 3k >k 5k 3k >k 3k 3k >k 5k Sk >k ok Sk 3k ok Sk k ok Sk 3k ok 5k 3k >k 5k k >k 5k 3k >k ok sk ko k >k
+ 0000000000000000000000000000000000000 *
* SLOW-DOWN PARAMETERS:

* TIME-EVEN = 0.50 TIME-ODD = 0.50 PAIRING = 0.50 LIPKIN-NOGAMI = 0.50
*

* ¥ *
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sk ok sk ok ok ok ok sk sk ok ok ok sk ok ok ok sk s sk ok ok sk sk sk ok ok ok sk sk ok ok ok ok s sk ok ok ok sk sk ok ok ok sk s sk ok ok ok sk sk sk ok ok sk sk sk ok ok sk sk sk ok ok ok sk sk ok ok ok ok sk ok ok ok ok sk ok

+ 000000000000 D000D00000D000D00000000000000O *
* BROYDEN METHOD IS: OFF *
* *
* ITERATIONS WILL PROCEED BY STANDARD LINEAR MIXING WITH SLOWING FACTORS
*  DISPLAYED EARLIER *
L3 *

sk sk sk sk sk 3k oK oK oK oK oK oK oK oK ok ok ok ok ok o o o o o o o sk sk sk sk sk sk sk ok ok ok ok ok oK oK oK ok ok ok ok ok ok ok o o o ok ok ok sk sk sk sk sk sk sk sk sk ok ok ok ok ok ok ok ok ok ok ok ok ok o
* 00000000000 obooooboooobooo *
* DIRECT COULOMB TERMS SOLVED BY GREEN FUNCTION AND FOURIER TRANSFORM METHOD *

COULOMB PARAMETERS: NUMCOU = 80 NUMETA = 79 BOUCOU = 20.0 FURMAX =0.25
* *

*

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 3k 3k >k %k 5k 5k 5k >k >k >k 5k 5k >k >k >k 5k 5k 5k >k %k >k >k 5k >k >k %k 5k 5k >k >k >k >k 5k 5k 5k >k >k %k >k >k >k %k >k >k >k >k >k >k %k >k >k >k >k >k %k >k >k %k >k %k >k > >k *k >k k

* JO000O000bbooooboooobbooobooobooooooboo *
* EXCHANGE COULOMB TERMS TREATED BY THE SLATER APPROXIMATION *
* *

3k 3k 3k 5K >k >k 3k 3k 3k 5k >k >k 5k 3k 3k >k %k >k 5k 5k >k >k 5k 3k 5k >k >k >k 5k 5k 3k >k >k >k >k >k >k >k %k 5k 5k >k >k >k >k 5k 5k >k >k >k %k >k 3k >k >k >k %k >k >k >k %k >k >k > >k >k >k %k >k >k %k >k %k >k 3% *k *k >k >k

* *
* MAXIMUM NUMBERS OF MULTIPOLE MOMENTS USED FOR THE CONSTRAINTS, NMUCON=2 *
* FOR THE COULOMB FIELD, NMUCOU=4 x*
* FOR THE OUTPUT INFO, NMUPRI=4 x*
* *

sk ok sk ok ok ok ok sk ok ok ok ok s sk ok ok ok sk s sk ok ok sk sk sk ok ok ok sk sk sk ok ok ok s sk ok ok ok sk sk ok ok ok sk s sk ok ok ok sk sk sk ok ok sk sk sk ok ok sk sk sk ok ok ok sk sk ok ok ok ok sk ok ok ok ok sk ok

* *
* PRINTING THE RESULTS FOR THE FOLLOWING ITERATIONS: THE FIRST: YES *
* THE MIDDLE: NO *
* AND/OR THE  LAST: YES *
* *

3k 3k >k 5k >k 3k 3k 3k 3k %k 5k >k 3k 3k 3k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k 3k 3k >k 5k %k %k >k %k 5k %k >k %k %k *k >k

* *
* PRINTING THE MOMENTS, RADII, AND DEFORMATIONS FOR: NEUTRONS: YES =
* PROTONS : YES =
* MASS : YES
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 5k 3k >k %k >k 5k 5k >k %k 5k 5k 5k 5k >k >k 5k 5k 5k >k %k >k 5k 5k >k >k %k 5k >k >k >k >k >k 5k 5k >k >k >k %k >k >k >k %k >k >k >k >k >k >k %k >k >k >k >k >k %k >k >k %k >k %k >k > % *k >k k

* *
* PRINTING THE MOMENTS, MOMENTA AND DEFORMATIONS IN THE INTRINSIC FRAME: YES x*
* *

3k 3k 3k 5k >k >k 3k 5k 3K 5k >k >k 5k 3k 5k >k %k >k 5k 5k >k >k 5k 3k 5k >k >k >k 5k 5k 3k >k %k >k >k >k >k >k %k 5k 5k >k >k >k >k %k >k 5k >k >k %k >k 3k >k %k >k >k >k >k >k %k >k >k >k >k >k >k %k >k >k %k >k %k >k > *k *k >k >k

* *
* NILSSON LABELS OF SINGLE-PARTICLE STATES SHOWN WITH RESPECT TO THE: Y-AXIS =
* *

sk sk ok ok ok ok ok sk ok sk ok stk sk ok sk ok st ok ok ook ook ook s ok s ok ook s ok s ok s ok o ok o ok s ok o ok o ok sk ok sk ok ok ok sk ok ok sk ok ok sk sk ok skok sk ok sk ok skok ok ok ok

* *
* CALCULATIONS WITH THE HFB PAIRING CORRELATIONS *
* *

3k 3k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 5k 5k >k 3k >k 5k 3k 3k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 5k >k 3k >k 5k 5k >k 5k >k 3k 3k 3k 5k 5k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 5k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k 5k %k %k k k

* *
* INITIAL VALUES OF PAIRING PROPERTIES: FERMI ENERGY PATRING GAP *
* NEUTRONS: -8.0000 1.0000 *
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* PROTONS: -8.0000 1.0000 *

3k 3k >k 5k >k 3k 3k 3k 3k %k 3k >k 3k 3k 5k 5k >k 3k >k 5k 3k 3k 5k >k 3k >k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 5k 3k 5k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k k k

* *
* CONTACT PAIRING INTERACTION: Vo Vi RHO-SAT POWER *
* NEUTRONS: -220.000 0.000 1.000 1.0000000 *
* PROTONS: -220.000 0.000 1.000 1.0000000 *
* *

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 5k 3k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k 5k %k >k >k %k 5k %k >k *k >k *k >k

* *
* BLOCKING OF QUASIPARTICLES THAT HAVE LARGEST OVERLAP WITH PARTICLE STATES: x
* NUMBER PARITY SIGNATURE *
* NEUTRONS: 25 0 0 YES %
* PROTONS: 17 0 0 YES %
* *

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 5k 3k 5k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k >k >k %k 5k >k 5k %k %k >k %k 5k %k >k %k %k *k k

* *
* CUTOFF ENERGY DEFINING THE ACTIVE HFB PAIRING SPACE= 60.000 *
* *

3k 3k >k 5k >k 3k 5k 3k 3k >k 5k >k 3k 3k 5k 3k >k 3k >k 3k 5k >k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 3k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k >k %k >k >k %k 5k >k >k %k %k *k >k

* *
* CALCULATIONS WITH PARITY/SIGNATURE SYMMETRY *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 3k 5k >k %k 5k 5k >k >k %k >k 5k 5k >k >k >k 5k 5k 5k >k %k >k 5k 5k >k >k %k >k >k >k >k >k >k 5k 5k 5k >k >k %k >k >k >k %k >k >k >k >k >k %k 5k 5k >k >k >k >k %k >k >k %k >k %k >k > >k *k >k k

* *
* CALCULATIONS WITH TIME-ODD SYMMETRIES: T*SIMPLEX_X => CONSERVED *
* T*SIMPLEX_Y => NON CONSERVED *
* T*SIMPLEX_Z => CONSERVED  *
* *

3k 3k 3k 5K >k >k 3k 5k 3k 5k >k >k 5k 5k 3k >k %k 5k 5k 5k >k >k 5k 3k 5k >k >k >k 5k 5k 3k >k %k >k >k 5k 5k >k %k 5k >k 5k >k >k >k 3k 5k >k >k >k %k >k 3K >k >k >k 5k >k >k >k >k >k 5k > >k >k >k %k >k >k %k >k %k >k 5% % *k >k >k

* *
* CALCULATIONS WITH BROKEN TIME-REVERSAL SYMMETRY *
* *

stk st sk ok st ok sk ok ok sk s ok sk sk ok st ok sk s ok sk sk ok stk sk s ok sk sk ok sk s ok st sk sk sk ok sk s ok sk sk sk stk sk sk ok sk sk ok sk sk sk sk sk sk sk ok sk s ok sk sk ok ok sk ok sk ok ok ok

* *
* CALCULATIONS WITH ONE-DIMENSIONAL CRANKING FOR THE ROTATIONAL FREQUENCIES: *
* *
* OMEGAY = 0.000000 (ISOSCALAR) AND OMISQOY = 0.000000 (ISOVECTOR) *
* *

3k 3k >k 5k >k 3k 5k 3k 3k >k 5k >k 3k 3k 5k 5k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 3k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k >k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k >k >k 3k 5k >k >k %k %k >k %k 5k >k >k %k %k *k >k

* *
* PARAMETERS OF THE NILSSON MODEL NEUTRONS *
* *

3k 3k 3k 5k >k >k 3k 3k 5k 5k %k >k 5k 3k >k >k %k >k 5k 5k >k %k >k 5k 5k 5k >k >k 3k 3k 5k >k %k >k 3k 5k >k >k %k >k 5k >k >k %k >k 5k 5k >k >k >k 3k >k >k >k %k >k 3k >k >k >k %k 5k 5k >k >k %k >k %k >k >k %k >k %k >k >k >k *k >k k

* *
* ESCALE =68.531 KAPPA = 0.064 MIU = 0.420 =x*
* *
* HOMEGA = 8.988 CNILSS =-1.145 DNILSS =-0.240 x*
* *
* (OSCILLATOR FREQUENCIES: X= 9.869767418 Y= 7.454852997 Z= 9.869734217 x
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* *
3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 3k 5k >k %k 5k 3k 5k >k %k >k 5k 5k >k >k >k 5k 5k 5k >k %k >k 5k >k >k >k %k 5k 5k >k >k %k >k 5k 5k >k >k >k %k 5k >k >k %k >k >k >k >k >k >k >k >k >k >k >k >k %k >k >k %k >k %k >k >k >k *k >k k

oo rs200000oooooooooan
Ub00o00o0ouob0obbo0bo0b0b0obuobb0oUdbUubO (HFB canonical basis) U
goo
gobooboobbooboobbooobooboo

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 5k 3k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k 5k %k >k >k %k 5k %k >k *k >k *k >k

* *
* CONVERGENCE REPORT *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 3k 5k >k %k 5k 3k 5k >k >k %k 5k 5k >k >k >k 5k 5k 3k >k %k >k 5k 5k >k >k %k 3k 5k >k >k %k >k 5k 5k >k >k >k 3k >k >k >k %k >k >k >k >k >k %k >k >k >k >k %k >k %k >k >k %k >k %k >k > *k *k >k k

L3 k
* ITER ENERGY STABILITY Q.2  GAMMA SPIN OMEGA ANGLE EPAIR *
3 k
* 0 -1009.969706 -342.058189 19.338  0.00 -5.00 0.000 0.000 -16.49 *
* 1 -1381.533181 139.257418 18.640  0.00 6.65 0.000 0.000 -79.23 *
* 2 -1289.924881 40.468157 18.688  0.01 4.74 0.000 0.000 -28.49 *
* 3 -1295.177821 28.851211 18.703  0.01 5.28 0.000 0.000 -25.02 *
* 4 -1300.381052 17.434919 18.779  0.00 5.09 0.000 0.000 =-22.50 *
* 5 -1304.885917 10.981678 18.762  0.00 5.22 0.000 0.000 -20.94 *
OOoo9%0000OOODO

* 995 -1312.634458  0.000085 18.679  5.69 1.95 0.000 0.000 -10.01 *
* 996 -1312.634458  0.000084 18.679  5.69 1.95 0.000 0.000 -10.01 *
* 997 -1312.634457  0.000083 18.679  5.69 1.95 0.000 0.000 -10.01 *
* 998 -1312.634457  0.000081 18.679  5.69 1.95 0.000 0.000 -10.01 *
* 999 -1312.634456  0.000080 18.679  5.69 1.95 0.000 0.000 =-10.01 *
L3 *

sk sk ok ok ok sk ok sk ok sk ok stk sk ok sk ok ok ook ook ook ook ook ook ook s ok ok s ok ok ok s ok ok ok o ok sk ok sk ok ok ok sk ok sk sk ok ok sk sk ok sk ok sk ok sk ok skok ok ok ok

gbobooobdpoooooooooooooooooooooooooon

3k 3k >k 5k >k 3k 3k 3k 3k %k 5k >k 3k 3k 5k 3k >k 3k >k 5k 3k >k 3k >k 3k >k 5k 5k >k 5k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 5k 3k 5k 5k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k k k

* 000 0ooobooobooobooooooooo *
* SINGLE-QUASIPARTICLE PROPERTIES: NEUTRONS *
* *

KK KK KKK oK oK oK oK oK oK oK oK oK oK oK ok ok o o o o o K K K K KKK oK oK oK oK oK oK oK oK oK oK oK ok oK oK ok ok o o o K K K K K K oK oK oK oK oK oK oK oK oK oK oK oK oK oK ok ok ok ok
* *
* NO) ENERGY (++,+-,-+,—-) PARITY V2QUAP EEQUIV  DEQUIV  V_CORR *
gog3oecnooogd

*  90) 1.829 ( 0, 0,22, 0) -1.000 0.92740 -7.973 0.949 1.00000 =
*  91) 1.784 (23, 0, 0, 0) 1.000 0.92497 -7.926 0.940 1.00000 =
*  92) 2.756 (24, 0, 0, 0) 1.000 0.72712 -7.662 2.456 1.00000 =
*  93) 1.507 ( 0, 0,23, 0) -1.000 0.89566 -7.603 0.922 1.00000 =
*  94) 1.446 ( 0, 0, 0,23) -1.000 0.89521 -7.553 0.886 1.00000 =
*  95) 1.095 ( 0, 0,24, 0) -1.000 0.79080  -7.047 0.891 1.00000 =
*  96) 1.328 ( 0, 0, 0,24) -1.000 0.73113 -7.024 1.178 1.00000 =
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*

97) 1.013 ( 0,25, 0, 0) 1.000 0.64692 -6.708 0.969 1.00000
98) 0.839 ( 0, 0, 0, 0) BLO 1.000 0.64698 -6.657 0.802 1.00000
99) 0.839 ( 0,26, 0, 0) ADD 1.000 0.35302 -6.657 0.802 0.99999

* %

Uo0b OB ODOOOO0ODOODOOODOODbDOOODbDOODLOD
gappbigooooboboodobbodgssddbbooboboobooooboooobooon
goo

goboooboogd

* 100) 1.007 ( 0, 0,25, 0) -1.000 0.26700 -5.941 0.891 1.00001 =
* 101) 1.083 ( 0, 0, 0,25) -1.000 0.26511 -5.901 0.956 1.00001 =
* 102) 1.547 ( 0, 0, 0,26) -1.000 0.13993 -5.296 1.073 1.00001 =
* 103) 2.723 (25, 0, 0, 0) 1.000 0.26638 -5.138 2.408 1.00000 =
* 104) 1.614 ( 0, 0,26, 0) -1.000 0.08440 -5.069 0.897 1.00001 =
* 105) 1.840 (26, 0, 0, 0) 1.000 0.07440 -4.844 0.965 1.00000 =
* 106) 1.863 ( 0,27, 0, 0) 1.000 0.06574 -4.792 0.923 1.00000 =
* 107) 2.868 ( 0,28, 0, 0) 1.000 0.19565 -4.664 2.275 1.00000 =
* 108) 2.627 ( 0, 0, 0,27) -1.000 0.02799 -3.930 0.867 1.00000 =
* 109) 7.633 ( 0,29, 0, 0) 1.000 0.33464 -3.886 7.203 1.00000 =
* 110) 2.714 (C 0, 0,27, 0) -1.000 0.02671 -3.841 0.875 1.00000 =

ob46000000

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 5k 5k >k %k 5k 3k 5k >k %k >k 5k 5k >k >k >k 5k 5k 3k >k %k >k >k 5k >k >k %k 5k 5k >k >k %k %k 5k 5k >k >k >k %k 5k >k >k %k >k >k >k >k >k %k 5k >k >k >k >k >k %k >k >k %k >k %k >k > >k *k >k k

* JO00O00O0O0FBO0ODOO0OODOOOOODOOOO *
* SINGLE-PARTICLE PROPERTIES: CANONICAL NEUTRONS *
* *

3k 3k 3k 3k 3k 5k Sk 3k 5k Sk 3k ok 5k 3k >k 5k 3k >k 5k k >k 5k 3k >k 5k Sk %k 5k Sk 5k 5k Sk 3k ok Sk 5k 5k Sk 3k 5k 5k 3k >k 5k 3k >k 5k 3k >k 5k 3k >k 5k Sk %k 5k Sk 5k 5k Sk 3k ok 5k 3k 5k 5k 3k >k 5k %k >k 5k sk %k >k sk k ok >k
k *
*  NO) ENERGY (++,+-,-+,--) | N,ny,ly,OMEy> <p> <JY> <8Y> GFACT =
0014000000

*  90) -8.067 ( 0,24, 0, 0) | 6, 5, 1, 3/2> 100 -1.316 -0.218 0.166  *
*  91) -8.011 (0, 0,22, 0) | 5, 2, 1, 3/2> -100 0.948 0.319 0.337 %
x  92) -7.968 (24, 0, 0, 0) | 6, 5, 1, 3/2> 100 1.317 0.211 0.160  *
* 93) -7.613 ( 0, 0,23, 0) | 5, 0, 5,11/2> -100 5.479 0.500 0.091  *
x  94) -7.551 (0, 0, 0,23) | 5, 0, 5,11/2> -100 -5.480 -0.500 0.091  =*
* 95) -7.284 (0, 0, 0,24) | 5, 2, 3, 5/2> -100 1.703 -0.315 -0.185  *
*  96) -7.039 (0, 0,24, 00 | 5, 2, 3, 5/2> -100 -1.678 0.311 -0.186  *
*  97) -6.951 ( 0,25, 0, 0) | 6, 4, 2, 5/2> 100 2.449 0.340 0.139 %
*  98) -5.917 (0, 0, 0,26) | 5, 2, 1, 1/2> -100 0.710 -0.333 -0.469 *
*  99) -5.838 ( 0, 0,25, 0) | 5, 2, 1, 1/2> -100 -0.735 0.335 -0.455  *
* 100) -5.062 ( 0, 0,26, 0) | 5, 1, 2, 5/2> -100 -2.187 -0.386 0.176  *
* 101) -4.972 (0, 0, 0,26) | 5, 1, 2, 5/2> -100 2.187 0.391 0.179  *
* 102) -4.768 ( 0,26, 0, 0) | 6, 3, 3, 7/2> 100 -3.467 -0.398 0.115  *
* 103) -4.744 (25, 0, 0, 0) | 6, 3, 3, 7/2> 100 3.466 0.398 0.115 %
* 104) -3.808 ( 0, 0,27, 0) | 5, 1, 4, 7/2> -100 2.878 -0.402 -0.140 %
* 105) -3.647 ( 0, 0, 0,27) | 5, 1, 4, 7/2> -100 -2.868 0.402 -0.140 *
* 106) -3.560 ( 0,27, 0, 0) | 6, 6, 0, 1/2> 100 0.495 0.174 0.351 %

b z2esibboobooobobooobooobooooboobooan
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3k 3k >k 5k >k 3k 5k 3k 3k 5k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k 5k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k >k >k %k 3k >k 5k %k 3k >k %k 5k >k >k %k %k *k k

* *
* DENSITY INTEGRALS IN THE SKYRME FUNCTIONAL *
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 3k >k >k %k >k 5k 5k >k %k >k k 5k 5k >k >k 3k 5k 5k >k %k >k 5k >k >k >k >k >k >k >k >k %k >k 5k 5k >k >k >k >k >k >k >k %k >k 3k >k >k >k >k >k >k >k >k >k >k %k >k >k %k >k %k >k >k >k *k >k k

k *
* TOTAL(T) SUM(S) ISOSCALAR(P) ISOVECTOR(M)  *
x  mmmmme—— e e *
x  DRHO_ = 18.921395 9.761580 18.921395 0.601765  *
*  DRHOD = 13.460416 6.939912 13.460416 0.419409  *
*  DLPR_ = -3.671018 -1.898538 -3.671018 -0.126058  *
*  DTAU_ = 17.040377 8.939715 17.040377 0.839053
*  DSCU_ = 0.117695 0.061407 0.117695 0.005119  *
*  DDIV_ = 0.810158 0.414935 0.810158 0.019712
* *
*  DSPI_ = 0.002476 0.002319 0.002476 0.002162  *
*  DSPID = 0.001705 0.001602 0.001705 0.001498
*  DLPS_ = -0.008064 -0.005069 ~0.008064 -0.002074  *
*  DCUR_ = 0.001098 0.000944 0.001098 0.000790 %
*  DKIS_ = -0.000036 0.001049 -0.000036 0.002133  *
*  DROT_ = 0.001134 0.000711 0.001134 0.000287  *
* *

3k 3k >k 5k >k 3k 3k 3k 3k %k 5k >k 3k 3k 3k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k 3k 3k >k 5k %k %k >k %k 5k %k >k %k %k *k >k

3k 3k >k 5k >k 3k 5k 3k 3k %k 5k >k 3k 3k 5k 3k >k 3k >k 3k 5k >k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 3k >k 3k 5k >k >k >k 3k 5k 3k 5k %k >k >k %k 5k >k 5k %k >k >k %k 5k >k >k %k %k *k >k

* *
* CONTRIBUTIONS TO ENERGY IN THE SKYRME FUNCTIONAL *
* *

>k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 5k 5k >k %k >k 5k >k >k %k >k 5k 5k 5k >k >k 5k 5k 5k >k %k >k >k 5k >k >k %k >k 5k >k >k >k >k 5k 5k >k >k >k %k >k >k >k %k >k >k >k >k >k >k 5k 5k >k >k >k >k %k >k >k %k >k %k >k > *k *k >k k

* *
* TOTAL(T) SUM(S) ISOSCALAR(P) ISOVECTOR(M) *
*x  mmmmee— e e *
* ERHO_ = -33365.891081 16205.247669 -17660.139951 499.496539 *
* ERHOD = 25915.819603 -14771.926146 11590.259214 -446.365757 *
* ELPR_ = 340.132117 -59.451341 282.654485 -1.973709 *
* ETAU_ = 553.334283 440.848381 973.494366 20.688298 *
* ESCU_ = -5.574745 7.930777 2.025478 0.330554 *
* EDIV_ = -49.824708 -25.518498 -74.737062 -0.606144 *
* *
* SUM EVEN: -6612.004530 1797.130842 -4886.443469 71.569781 *
* *
* ESPI_ = -1.284974 1.442950 -0.514606 0.672582 *
* ESPID = 1.325077 -0.919382 0.835758 -0.430062 *
* ELPS_ = -0.264294 -0.144793 -0.379465 -0.029623 *
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* ECUR_ = -0.035665 -0.046557 -0.062746 -0.019476 *
* EKIS_ = -0.001704 -0.135442 0.000619 -0.137765 *
* EROT_ = -0.069758 -0.043711 —-0.104638 —-0.008832 *
* == = = *
* SUM 0DD: -0.331318 0.153065 -0.225077 0.046824 *
* *

3k 3k 3k 5k 5k >k 3k 3k 5k 5k >k >k 3k 5k 5k >k >k >k Sk 5k >k %k >k 3k 5k 5k >k >k 3k 5k 5k >k >k >k 3k 5k 5k >k >k >k 5k 5k >k >k >k 3k 5k 5k >k >k 3k 3k >k >k >k >k 5k 5k >k >k >k >k 5k >k >k >k >k %k >k >k >k >k %k >k >k >k *k >k k
3k 3k 3k 5k >k >k 3k 5k 3k >k %k >k 5k 5k 3k >k >k 3k 5k 5k >k >k >k 3k 5k 5k >k >k 3k 5k 3k >k >k >k 5k 5k 3k >k %k 5k >k >k >k >k >k 3k 5k 5k >k >k %k >k 3k >k >k >k >k 5k >k >k %k %k >k >k >k >k >k %k >k > %k >k %k >k 5% %k *k >k >k

EULER ANGLES OF THE PRINCIPAL-AXES FRAME IN DEGREES TOTAL

ALPHA =270.00000 BETA = 90.00000 GAMMA = 0.00000

* %X * X ¥
* X X X ¥

3k 3k >k 5k >k 3k 3k 3k 5k %k 3k >k 3k 3k 5k 3k >k 3k 3k 5k 3k 5k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 3k 3k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k %k k

3k 3k >k 5k >k 3k 3k 3k 3k >k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 5k >k 3k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 5k >k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k >k 5k %k %k >k %k 5k %k >k %k %k *k k

* *
* ROOT-MEAN-SQUARE AND GEOMETRIC SIZES IN FERMIS TOTAL *
* *
* R_RMS = 5.2540 X_RMS = 2.6380 Y_RMS = 3.6091 Z_RMS = 2.7604 x
* *
* R_GEO = 6.7829 X_GE0O = 5.8988 Y_GEO = 8.0703 Z_GE0O = 6.1723 =«
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 3k 3k >k %k 5k 5k 5k >k %k 5k 5k >k 5k >k >k 5k 5k 5k >k %k >k 5k >k >k >k %k 5k 5k >k >k >k >k 5k 5k >k >k >k %k 5k >k >k %k >k >k >k >k >k %k >k 5k >k >k >k >k %k >k >k %k >k %k >k > >k *k >k k

3k 3k 3k 5k >k >k 3k 3k 3k >k %k >k 3k 3k 5k >k %k 5k 5k 5k >k %k 5k 3k >k >k >k >k 5k 5k 3k >k %k >k 5k 5k >k >k %k 5k 5k >k >k >k >k 3k 5k 5k >k >k %k >k >k >k %k >k >k >k >k >k >k 5k >k >k >k >k >k %k >k >k %k >k %k >k 3% *k *k >k k

* *
* MULTIPOLE MOMENTS [UNITS: (10 FERMI) "LAMBDA] TOTAL =%
* *

>k 3k 3k 5K >k >k 3k 5k 3k 5k >k >k 5k 5k 5k >k %k 5k 5k 5k >k >k %k 3k 5k >k >k >k %k 5k 3k >k >k >k 5k 5k >k >k >k 5k >k 5k >k >k >k 3k 5k >k >k >k %k >k 3K >k >k >k %k 5k >k >k %k >k >k >k >k >k >k %k >k >k %k >k %k >k 5% %k *k >k >k

* *
* Q00 =162.0000 ... e e e e *
* *
* Q10 = ZERO Q11 = ZERD .. e e e *
* *
* Q20 = -7.6884 Q21 = ZERO Q22 =-17.0230 ... it i *
* *
* Q30 = ZERO Q31 = ZERO Q32 = ZERO Q33 = ZERO ............. *
* *
* Q40 = 0.2228 @41 = ZERO Q42 = 0.2711 Q43 = ZERO Q44 = 0.6114 =«
* *

3k 3k >k 5k >k 3k 3k 3k 3k %k 5k >k 3k 3k 5k 5k >k 3k >k 3k 5k 5k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k >k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k >k 5k %k >k >k %k 5k >k 5k %k %k >k %k >k >k >k %k >k *k %k

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 5k 5k >k %k >k 5k 5k >k %k 5k 5k 5k >k >k >k 5k 3k 5k >k %k >k 5k 5k >k >k %k >k 5k >k >k %k >k 5k 5k >k >k >k 3k 3k >k >k %k >k >k >k >k >k >k >k 5k >k >k %k >k %k >k >k %k >k %k >k >k >k *k >k k

* *
* BOHR DEFORMATIONS (FIRST-ORDER APPROXIMATION) TOTAL *
* *

stk sk ok ok s ok ok ok ok ok sk ok ok sk sk sk ok sk ok sk ok ok s sk sk ok sk ok sk ok ok ke sk sk ok s sk sk ok sk ok sk sk ok s sk sk ok sk ok sk sk ok ke sk sk ok sk sk sk ko sk sk ok sk sk sk ok ok sk ok ok sk ok ok
* *
* B10 = ZERO B1l1 = ZERD . e e *



B20

-0.1363 B21

ZERO B22

]

|
O
w
O
P
~

B30 ZERO B31 ZERO B32 ZERO B33

]
N
&2
=
o

B40 0.0272 B41 ZERO B42 0.0468 B43 ZERO B44 = 0.1056

¥ ¥ X X ¥ ¥ ¥
*

*
3k 3k 3k 3k 3k 5K Sk 3k 5k Sk 3k 5k 5k 3k >k 5k 3k >k 5k 3k >k 5k Sk %k 5k Sk %k 5k Sk 5k 5k Sk %k 5k 5k 5k 5k Sk 3k 5k 5k 5k >k 5k 3k >k 5k 5k %k 5k 3k >k 5k Sk %k 5k 5k 5k 5k 5k 3k >k 5k 3k >k 5k 3k >k 5k %k >k 5k sk %k ok sk k >k >k

* *
* BOHR DENSITY = 0.1239 FM~(-3) BOHR RADIUS = 6.7829 FM *
* *

3k 3k 3k 5k >k 3k 3k 3k 5k 5k 5k >k 3k 3k 5k 5k %k 3k >k 5k 3k 3k 5k >k 3k 3k 5k 5k >k 5k >k 3k 5k 5k 5K >k 5k >k 3k 5k 5k 5k >k 3k 3k 5k 5k 5k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 5k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k *k %k k k

3k 3k >k 5k >k 3k 3k 3k 5k %k 3k >k 3k 3k 5k 3k >k 3k 3k 5k 3k 5k 5k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 3k 3k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k >k %k %k %k k

* Q00000 (yOH)ODOOOODOODOODODODODODODODO *

* MULTIPOLE MOMENTS [UNITS: (10 FERMI) "LAMBDA] [INTRINSIC FRAME] TOTAL *
* *
* REAL PART FOR A NON-NEGATIVE PROJECTION *
* IMAGINARY PART FOR A NEGATIVE PROJECTION *
* *

sk sk ok ok ok sk ok sk ok sk ok stk sk ok sk ok st ok ok ook ook ook ook ook ook s ok s ok s ok o ok o ok s ok o ok o ok sk ok sk ok ok ok sk ok sk sk ok sk sk sk ok skok sk ok sk ok skok ok ok ok

% *
% Q00 =162.0000 .ttt e *
K s *
L3 k
% Q10 =  ZERO Q1+1=  ZERD o evveetne e e *
* QL=1=  ZERD e et et e *
% %
% Q20 = 18.5866 Q2+1=  ZERD Q242= 1.8532 i *
* Q2-1=  ZERO Q2-2=  ZEROD  ©eeeveeenn *
L3 %k
% Q30 =  ZERO Q3+1=  ZERO Q3+2=  ZERO Q3+3=  ZERD ...ouvnrnn... *
* Q3-1=  ZERO Q3-2=  ZERO Q3-3=  ZERQ ....evnnn.... *
* *
x Q40 = 0.9374 Q4+1=  ZERO Q4+2= 0.1808 Q4+3=  ZERO Q4+4= 0.0136 *
* Q4-1=  ZERO Q4-2=  ZERO Q4-3=  ZERO Q4-4=  ZERO *
% *

3k 3k >k 5k >k 3k 5k 3k 3k >k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 5k >k 3k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 3k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k 5k >k %k 5k >k 5k %k 3k >k %k 5k %k >k %k %k k k

3k 3k >k 5k >k 3k 5k 3k 3k 5k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 3k >k 3k >k 5k 3k >k 5k >k 3k 5k 5k 5k >k 5k >k 3k 5k >k 5k >k 5k >k 3k 5k >k 5k >k 3k 5k 3k 5k >k >k >k 3k 5k 3k 5k %k >k >k %k 3k >k 5k %k %k >k %k 5k %k >k %k %k *k k

» JO000000000000b00o0ooouoooooobo4010000 *

* BOHR DEFORMATIONS (FIRST-ORDER APPROXIMATION) [INTRINSIC FRAME] TOTAL *
* *
* REAL PART FOR A NON-NEGATIVE PROJECTION *
* IMAGINARY PART FOR A NEGATIVE PROJECTION *
* *

3k 3k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 5k 5k >k 3k >k 5k 3k 3k 5k >k 3k 3k 5k 3k >k 3k >k 3k 3k >k 5k >k 3k >k 5k 5k >k 5k >k 3k 3k 3k 5k 5k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 5k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k 5k %k %k k k

* *
* B10 = ZERO Bil+1= ZERO .. e e e *
* B1l-1= ZERO . e e e *



* *
* B20 = 0.3295 B2+1= ZERO B2+2= 0.0328 . ...ttt i *
* B2-1= ZERO B2-2= ZEROD .. i e *
* *
* B30 = ZERO B3+1= ZERO B3+2= ZERO B3+3= ZERO ............. *
* B3-1= ZERO B3-2= ZERO B3-3= ZERO ............. *
* *
* B40 = 0.1145 B4+1= ZERO B4+2= 0.0312 B4+3= ZERO B4+4= 0.0024 «*
* B4-1= ZERO B4-2= ZERO B4-3= ZERO B4-4= ZERO =
* *

3k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 3k 3k >k >k %k >k 5k 5k >k %k >k k 5k 5k >k >k 3k 5k 5k >k %k >k 5k >k >k >k >k >k >k >k >k %k >k 5k 5k >k >k >k >k >k >k >k %k >k 3k >k >k >k >k >k >k >k >k >k >k %k >k >k %k >k %k >k >k >k *k >k k

* *
* BOHR DENSITY = 0.1239 FM~(-3) BOHR RADIUS = 6.7829 FM *
* *
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* *
* ANGULAR MOMENTA AND THE FIRST MOMENTS OF INERTIA *
* *

sk sk ok ok ok sk ok sk ok sk ok stk sk ok sk ok st ok ok ook ook ook ook ook ook s ok s ok s ok o ok o ok s ok o ok o ok sk ok sk ok ok ok sk ok sk sk ok sk sk sk ok skok sk ok sk ok skok ok ok ok

* *
* SPINS J(1) *
*  mmmmm e *
* ORBITAL  INTRINSIC  TOTAL ORBITAL  INTRINSIC  TOTAL =
* *
* NEUTRONS 2.14567 0.32172  2.46739 *
*  PROTONS -0.10296 -0.41317 -0.51613 *
* ——————— *
* TOTAL 2.04271 -0.09145 1.95126 *
* *

sk sk ok ok ok ok ok sk ok sk ok stk sk ok sk ok ok ook ook ook ook ook ook ook s ok s ok s ok o ok o ok s ok o ok o ok sk ok sk ok ok ok sk ok ok sk ok ok sk sk ok sk sk ok sk ok skok ok ok ok

* *
* ANGULAR MOMENTA IN THE INTRINSIC REFERENCE FRAME *
* *

3k 3k >k 5k >k 3k 3k 3k 5k %k 3k >k 3k 3k 5k 5k >k 3k >k 5k 3k >k 5k >k 3k >k 5k 5k >k 5k >k 3k 5k 5k 5k >k 3k >k 3k 5k >k 5k >k 3k 3k 5k 5k >k 5k >k 3k 5k 3k 5k >k 5k >k 3k 5k 3k 5k %k 5k >k %k 5k %k 5k %k %k >k %k 5k %k >k %k %k *k %k

* goooooon *
* SPIN IN X-DIRECTION SPIN IN Y-DIRECTION SPIN IN Z-DIRECTION =
* e e *
* INTRI ORBIT TOTAL INTRI ORBIT TOTAL INTRI ORBIT TOTAL =
* *
* NEUTRONS -0.000 -0.000 -0.000 -0.000 -0.000 -0.000 -0.322 -2.146 -2.467 *
*  PROTONS 0.000 0.000 0.000 0.000 0.000 0.000 0.413 0.103 0.516 =
* o ——————— *
* TOTAL 0.000 -0.000 -0.000 0.000 -0.000 -0.000 0.091 -2.043 -1.951 =
* *

3k 3k >k 5k >k 3k 3k 3k 5k >k 5k >k 3k 3k 5k 5k >k 3k 3k 5k 3k 5k 5k >k 3k 3k 5k 5k >k 3k >k 3k 3k >k 5k >k 3k >k 5k 5k >k 5k >k 3k 3k 3k 5k 5k 5k >k 3k 3k 3k 5k >k 5k >k 3k 5k 5k 5k %k 5k >k %k 5k %k 5k %k 3k >k %k 5k %k 5k %k %k %k
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* *
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* ENERGIES (MEV) *

STOP ALL DONE
* *
stk sk ok ok s ok ok ok ok ke sk ok ok sk sk sk ok sk ok sk ok ok s sk sk ok sk ok sk ok sk ke sk sk ok sk sk sk ok sk ok sk sk ok sk sk sk ok sk ok sk sk sk ok sk sk ok sk sk ok sk ok sk sk ok ok sk ok ok sk sk ok k ok ok

KINETIC: (NEU)= 1913.830325 (PRO)= 1066.018835 (TOT)= 2979.849160
SUM EPS: (NEU)= -2288.958418 (PRO)= -1422.280371 (TOT)= -3711.238790

PAIRING: (NEU)= -7.350837 (PRO)= -2.656516 (TOT)=  -10.007352
P-REARR: (NEU)= 0.000000 (PRO)= 0.000000 (TOT) = 0.000000
PAIRGAP: (NEU)= 1.004542 (PRO)= 0.636730 THIS SPACE IS EMPTY
E-FERMI: (NEU)= -6.409890 (PRO)= -7.795008 AND AWAITS YOUR AD
COULOMB: (DIR)=  557.297519 (EXC)=  -24.721842 (TOT)=  532.575677
CONSTR. (MULT)= 0.000000 SLOPE= 0.000000 CORR.= 0.000000
CONSTR. (SURF)= 0.000000 SLOPE= 0.000000 CORR.= 0.000000

-0.000000

CONSTR. (SPIN)= -0.000000 SLOPE= 0.000000 CORR.

REARRANGEMENT ENERGY FROM THE SKYRME DENSITY-DEPENDENT TERMS 928.691596
ROUTHIAN (TOTAL ENERGY PLUS MULTIPOLE AND SPIN CONSTRAINTS)= -1312.634456

SPIN-ORB (EVE)=  -75.343206 (0DD)= -0.113470 (TOT)=  -75.456676
SKYRME: (EVE)= -4814.873688 (0DD) = -0.178253 (TOT)= -4815.051941

¥ X X X K X X X XK X X X K X K X X ¥ X ¥ X *

TOTAL: (STAB)= 0.000079 (SP)= -1312.634377 (FUN)= -1312.634456
(FUN) OOOODOOODO

¥ [ ¥ % % % % % % * X ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ ¥ * * * ¥

*
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gboesnboonooooboonDoO
ugbboobodgboobobooon
obobooboobooobobooboobDboobogbibbceallboon

>k 3k 3k 5k >k >k 3k 3k 3k 5k %k >k 5k 5k 5k >k %k >k 5k >k >k %k >k 5k 5k 5k >k >k 5k 5k 5k >k %k >k >k 5k >k >k %k >k 5k >k >k >k >k 5k 5k >k >k >k %k >k >k >k %k >k >k >k >k >k >k 5k 5k >k >k >k >k %k >k >k %k >k %k >k > *k *k >k k

* 570000 00boo00obboooubboooobboooobbooa *
* EXECUTION ENDS ON 2014.01.22 AT 06:06:31.749 *
* *
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